5#8 / External View

BRAZ / Components

| (x®%% : TY-34)2008.02.08

No. %# / Part name & / Pcs HE / Material &« ZXmLE / Color- Finish
1 il 2 WM ABS UL9LV-0 Jguv— ,TIv Y
Side plafe ABS UL94V-0 Gray , Black
2 JOv bIL-L4 1 7L IBEM YWNR=TFWIAL b+, TIv 27 N34+
Front frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
3 V77L—L 1 7L I IWN=TFWIAL b, TIvI7NMI4+
Rear frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
L N2RAHAZ W/ Slide panel 1 7l I8 A100P t1.5 YWAR=TFWIAL b, TIy s BE
Aliminium A1100P t1.5 Silver anodized , Black Painfed
5 XYIEHNAZW / Screwed panel 1 7 L i A1100P 1.5 IYWNR=FWIAL L, TIy 78E
Aliminium A1100P t1.5 Silver anodized , Black Painted
6 AT A (D M4 x 12) 8 23 =EE&sox—
Screw(Countersunk M4 - 12) Steel Black trivalent chromate
1 Hfte A (EftHD M3 x 5) A % Zyhr by x | ZfiRsO0x—
Screw(Slotted raised countersunk M3 - 5) Steel Nickel plated , Black frivalent chromate
8 J LR / Rubber feef A &M JL / Rubber 77y % / Black
Bk @EERED) / Color TypelEnd of product numberd)
2% / Code fil¥ / Side plate JLU =L /X)L / Frame- Panel
GS JU— [/ Gray YV Kx— / Silver
BB 77y 7 / Black 79y 7 / Black

180.5

430

O

(]

® =
JLZE / Self-adhesive rubber feet
. @% /Title N —
R 5 HTFBRTE By hO- - ©
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENCLOSURE
KR /Approved | B /Checked | #E/Created |2#& /Product number RE/Scale1l5
\ CF43-180 '
iR i A vl 17/ 3
{EfB /Date 2020/2/18




RfR / Internal View

(@AY
M
-
2.5 2.5
N
\Z, >
H &
° =
;\; N _ *H
- BAWTE / Max dim 414 p-3
< : S
:ﬁﬁ <
< Y i i
= = i i
2 e
—~ B
v ~
A
° <
2 : : o ] :
o T
> RIS IL (RAR) a INARBISFIL (IR
- Screwed panel (Internal View) o Slide panel (Internal View)
Q__ pu—
5 3
= V!
. oS
. —~
) & /Title N —
BARits hTRAIE | psy o b7 o
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENCLOSURE
KR /Approved | B /Checked | #E/Created |2#& /Product number RE/SCM?{)
. CF43-180 :
iR i A vl 2 /3
fEM B /Date 2020/2/18

| (x®&% : TY-34)2008.02.08




=1k /N=)L / Screwed panel

REY — M

Surface protfective film side

413.8 L-¢L 7
J
/SR JLFE / Panel Frontside
T
INAAFHINR)IL / Slide panel
L4

1617

/N )LFRE / Panel Frontside

1.5

REY - M

Surface protfective film side

| (x®&% : TY-34)2008.02.08

/ISR JLZEME / Panel Backside

/ISR JLZEME / Panel Backside

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title

EHaY bO—- LKy 7 A
SLOPED ENCLOSURE

O

&8 /Approved

AT

12X /Checked

[ A

8IM /Created

iR

3% /Product number
CF43-180

RE /Scale
1.4

{EfB /Date 2020/2/18

3/3




	CF43-18
	CF43-18 Model (1)
	CF43-18 Model (2)

